JIONELZEZEE TRAING

OOOOOOOOOOOOOOOOOOOOOOOOO

NO. 438 & THE IVES 1867
SIGNAL TOWER

PARTS LIST & EXPLODED VIEW
REV. DATE 01.2017



PARTS LIST: IONELZESRS TRAIN
NO. 438 & THE IVES 1867 SIGNAL TOWER [IONEL .- TRAINS

© © N o VAW N

10.
11.
12.
13.
14,
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.

CHIMNEY TP-4380010
ROOF TP-4380012
WINDOW (2) TP-4380013
SCREW (M1.4X4.0MM, F, BLACK) IA-0000453
WINDOW TP-4380014
HOUSE FRAME (2) TP-4380015
HOUSE FRAME (1) TP-4380016
KNIFE SWITCH ASSEMBLY TP-8400012
SCREW (M2.6X4.0MM, WHITE) IA-0000208
BULB BRACKET TP-4380020
BULB C1-0000001
DOOR TP-4380021
WASHER ID-0000009
NUTA TP-4390022
SCREW (M2.6X6.0MM, WHITE) IA-0000186
SWITCH BOARD TP-4380023
PLATFORM TP-4380024
SUPBASE TP-4380025
SIDE TOWER TP-4380026
FRONT TOWER TP-4380027
REAR TOWER TP-4380028
LADDER TP-ST00022
BASE TP-4380029
RIVET TP-4380030
THUMB SCREW TP-1550012
SCREW (M2.6X6.0MM, W/LOOK WASHER) IA-0000012

NAMEPLATE

TP-43980031


http://mthtrains.com/part/TP-4380010
http://mthtrains.com/part/TP-4380012
http://mthtrains.com/part/TP-4380013
http://mthtrains.com/part/IA-0000453
http://mthtrains.com/part/TP-4380014
http://mthtrains.com/part/TP-4380015
http://mthtrains.com/part/TP-4380016
http://mthtrains.com/part/TP-8400012
http://mthtrains.com/part/IA-0000208
http://mthtrains.com/part/TP-4380020
http://mthtrains.com/part/CI-0000001
http://mthtrains.com/part/TP-4380021
http://mthtrains.com/part/ID-0000009
http://mthtrains.com/part/TP-4390022
http://mthtrains.com/part/IA-0000186
http://mthtrains.com/part/TP-4380023
http://mthtrains.com/part/TP-4380024
http://mthtrains.com/part/TP-4380025
http://mthtrains.com/part/TP-4380026
http://mthtrains.com/part/TP-4380027
http://mthtrains.com/part/TP-4380028
http://mthtrains.com/part/TP-ST00022
http://mthtrains.com/part/TP-4380029
http://mthtrains.com/part/TP-4380030
http://mthtrains.com/part/TP-1550012
http://mthtrains.com/part/IA-0000012
http://mthtrains.com/part/TP-43980031

EXPLODED VIEW: TONELELECRC TR &
NO. 438 & THE IVES 1867 SIGNAL TOWER LE+WINS




